Tashev Reaksiyalari.

 Alfabit shaklida.

Ag+O2+HCl=AgCl+H2O

3As2S3+28HNO3+4H2O = 6H3AsO4+9H2SO4+28NO

Al+HNO3(suy) = Al(NO3)3+N2O+H2O

Ag+O3=Ag2O2+O2
Al+N2=2AlN

Al+NH3=AlN+H2
Au+HNO3+HCl=AuCl3+NO+H2O

Al+NaOH+H2O=NaAlO2+H2

Al+Cr2O3=Al2O3+Cr

Al+NaOH+H2O=NaAlO2+H2
Al+S=Al2S3
Al+N=AlN

Al+C=Al4C3
AgCl+KCN=K[Ag(CN2)]+KCl

Ag2S+KCN=K[Ag(CN2)]+K2S

AgCl+NH3=[Ag(NH3)2]Cl

Au+NaCN+O2+H2O=Na[Au(CN)2]+NaOH

Au(OH)3=Au2O3+H2O (100 0C)

AuCl3=AuCl+Cl2 (185 0C)

AuCl= AuCl3+Au 

BaO2+H2SO4=O3+BaSO4+H2O

Ba(OH)2+XeO3=BaXeO4+H2O

BaXeO4=BaXeO6+Xe+O2
Be+2KOH=K2BeO2+H2
Ca3(PO4)2+C+SiO2=CaSiO3+P+CO

Ca3P2+H2O=Ca(OH)2+PH3
CuSO4+NH3= CuSO4*4NH3
CuCl2+NH3= CuCl2*4NH3
CuO+Mn=MnO+Cu
Cu+O2+HCl=CuCl2+H2O
Co3O4+H2= Co+H2O

Co3O4+C= Co+CO2
Co+HNO3= Co(NO3)2+NO+H2O

Co+O2= CoO yoki Co2O3
Co(OH)2+O2+H2O= Co(OH)3
Co2O3 + HCl= CoCl2+Cl2+H2O

Co(OH)3+H2SO4= CoSO4+O2+H2O

C+ FeO=CO+ Fe

Ca3(PO4)2+C=P+CaO+CO

2Cu2O+Cu2S=6Cu+SO2
Cu+O2+H2O+CO2=(CuOH)2CO3
Cu+HCl+O2=CuCl2+H2O

CuO=Cu2O+O2
Cu+Cl2=CuCl2
Cu2S+O2=Cu2O+SO2
Cr2O3+Al=Al2O3+ Cr

Cr2O3+Si=SiO2+ Cr

CrCl3+H2O+NaOH=NaCl+Na2CrO4+H2O

CrO3+H2O=H2CrO4
CrO3+H2O=H2Cr2O7
CrO3= Cr2O3+O2
Cr+H2SO4=Cr2(SO4)3+SO2+H2O

Cr+O2 yoki H2O = Cr2O3
Cr+F2= CrF4 yoki CF5
Cr+Gal2= CrGal3
Cr+HGal= CrGal2
Cr+H2S=CrS+H2 (qizdirilganda)

Cr+ N2, P, C, Si, B = CrN, Cr3P, Cr3C6, Cr7O3, CrB

CrCl2+H2O= Cr(OH)2+HCl

CrCl2+O2+HCl=CrCl3+H2O

Cr(OH)2+H2O+O2=Cr(OH)3

Ca(HCO3)2+Na2Al2S2O8→CaAl2S2O8 ( n H2O + NaHCO3
Ca+N2=Ca3N2+102,3 kkal

Ca+S=CaS (qizdirilganda)

Ca+NH3(g)=Ca(NH2)2+CaH2
CaCO3+SiO2=CaSiO3+CO2
Ca(OH)2+Cl2=CaCl2+Ca(OCl)2+H2O

Ca(OH)2+NaOH+Cl2=Ca(OCl)2+NaCl+H2O

CaSO4=CaO+SO2+O2 (960 C)

Cr2O3+Al=Al2O3+Cr

CaO+SiO2=CaSiO3
Ca3(PO4)2+HNO3=Ca(H2PO4)+Ca(NO3)2
Ca3(PO4)2+AgNO3=Ag3PO4+Ca(NO3)2
Ca3(PO4)2+H3PO4=Ca(H2PO4)2
Ca(OH)2+H3PO4=CaHPO4(2H2O

C+Al=Al4C3
CaO+3C=CaC2+CO

CO+H2O=CO2+135kkal

CO+Cl2=COCl2
CuO+CO=Cu+CO2
CuO+NH3=Cu+N2+H2O 

CuO+NH3=N2+Cu+H2O

Ca(OH)2+Cl2=CaOCl2+H2O

CaOCl2+CO2=CaCO3+Cl2
CaOCl2+ H2O+ CO2= CaCO3+ HClO+ CaCl2
ClO2+H2O= HClO2+ HClO3
Cl2O6+H2O= HClO4+ HClO3
Cl2O=Cl2+O2
Cl2+HgO=HgCl2+Cl2O

CO+H2=CH4+H2O (300o Ni)

CO+H2=CH3OH (360o ZnO)

CO+NaOH = HCOONa (200o,  15atm)

Cu2S+HNO3 = Cu(NO3)2+H2SO4+NO+H2O

Cr(OH)3+Br2+KOH = K2CrO4+KBr+H2O

FeCl3+3NaCNS = Fe(CNS)3+3NaCl

FeS2=FeS+S (600 oC)

FeCl3+H2S=FeCl2+HCl+S

Fe2O3+CO=Fe+CO2
FeO(Cr2O3+Na2CO3+O2=Na2Cr2O7+Fe2O3+CO2
Fe(CrO2)3+CO=Fe+ Cr+CO2
FeO+SiO2=Fe2SiO4(shlak)

Fe+O2= Fe3O4
Fe+O2+H2O= Fe(OH)3
Fe+Hg(NO3)2=Hg+ Fe(NO3)2 (Hg cho’kma)

FeCl2+NaOH= Fe(OH)2  + NaCl

FeCl3+NaOH= Fe(OH)3  + NaCl

FeCl3+3K4[Fe(CN6)]= Fe4[Fe(CN6)] + 12KCl (Fe4[Fe(CN6)] Berlin zangorisi)

FeCl3+NH4CNS→Fe(CNS)3+NH4Cl

Fe2O3+CO= Fe3O4+CO2
Fe3O4+CO= FeO+CO2 (taxminan 600 C)

FeO+CO=Fe+CO2 (taxminan 700 C)

Fe+C= Fe3C

Fe+CO= Fe3C+CO2
FeO+Mn=MnO+ Fe

H2SO3+Cl2+H2O=H2SO4+HCl

H3AlO3+NaOH=NaH2AlO3+H2O

HNO3+HCl→NOCl+Cl+H2O

3H2MnO4 = 2HMnO4+MnO2+2H2O

H2O2+KMnO4+H2SO4 = MnSO4+K2SO4+O2+H2O

H2S+HNO3 = H2SO4+NO+H2O

HAuCl4 + H2O = Au +HCl + O2
H3AsO3 + H2S = H2O + As2S3
H2S+O2=H2O+S (kislorod kam b.sa,to  past b.sa)

H2S+Cl=HCl+S

H2S+H2SO3=S+H2O

H2S+SO2= S+H2O

H2SO3+H2O+Cl2=H2SO4+HCl

H2SO3+ H2S=S+H2O

H2SO4+SO3= H2S2O7
H2S2O7+H2O= H2SO4
HNO3=4NO2+O2+H2O

HNO3+P2O5=N2O5+2HPO3
HPO3+H2O=H3PO4
H3PO4=H4P2O7+H2O

H2SiO3→SiO2+H2O

HgS+O2=Hg+SO2
HgS+Fe=Hg+FeS

HgS+CaO=Hg + CaS + CaSO4
HgO=Hg+O2 (t C)

Hg +HNO3=Hg(NO3)2+NO2+H2O

Hg+H2SO4=HgSO4+SO2+H2O

Hg+O2=HgO

Hg+HNO3(suyul)= Hg2(NO3)2+NO+H2O

Hg2Cl2+NaOH=Hg2O+NaCl+H2O

Hg2(NO3)2+NaCl=Hg2Cl2+NaNO3
Hg+H2SO4= Hg2SO4+SO2+H2O

Hg2SO4+NaCl=Na2SO4+ HgCl2
Hg+HNO3= Hg(NO3)2+NO+H2O      ( Hg(NO3)2(NO holicha 

Hg+H2SO4= HgSO4+SO2+H2O

HgI2+2KI= K2[HgJ4]

K2Cr2O7+H2S+H2SO4 = Cr2(SO4)3+S+K2SO4+H2O

KClO3+HCl=KCl+Cl2+H2O

KClO+CO2+H2O=KHCO3+HClO

KClO3+J2=KJO3+Cl2
KBr+H2SO4=K2SO4+Br2+SO2+H2O

KJ+J2=KJ3
KJ+H2SO4=KHSO4+J2+SO2+H2O

K[Au(Cu)2]+Zn=K2[Zn(CN)4]+Au

K+O2=K2O2
KCl+Na=NaCl+K

KOH+Na=NaOH+K

K2Cr2O7+H2SO4=K2SO4+ CrO3+H2O

KCrO3+Br2+KOH=KBr+K2CrO4+H2O

Mg+NH3=Mg3N2+H2
MnCl2+NaOH= NaCl+Mn(OH)2
MgOHCl=Mg2OCl2+H2O

Mg2OCl2+HCl=MgCl2+H2O

Mg+HNO3=Mg(NO3)2+NO+H2O

MnO2+H2SO3=H2O+MnSO4
Mg+CO2=MgO+C

MoS2+O2=MoO3+SO2
MoO3+H2=Mo+H2O

MnO+C=Mn+CO

Mn+O2=MnO

MnO2+Al=Mn+Al2O3
Mn3O4+Al=Mn+Al2O3
Mn+H2O=Mn(OH)2+H2
Mn+H2SO4=MnSO4+H2
Mn+H2SO4=MnSO4+H2O +SO2
Mn+HNO3= Mn(NO3)2+NO2+H2O

Mn+Fe2O3=MnO+Fe

Mn+O2= MnO, MnO2, Mn2O3, Mn3O4, 

Mn+F2= MnF2, MnF3
Mn+S,N2,P,C= MnS, MnS2, Mn5N2, MnP2, Mn3C

Mn+NH3=Mn3N2 + H2
Mn + CO yoki CO2= MnO + C

Mn + CO2+H2= MnO+ Mn3C

Mn + suyul. HCl, HNO3 = MnCl2*6H2O, Mn(NO3)2*6H2O

Mn + kons. H2SO4= MnSO4+ SO2+H2O

2NH3+CO2 = H2N-CO-NH2+H2O

NO2 (sovutish) = N2O4                                     N2O4 (isitish) = NO2
NO+Cl2=NOCl                               NOCl=NO+Cl2
Na2SO3+J2+H2O=Na2SO4+HJ

NaJ+MnO2+H2SO4=MnSO4+J2+NaHSO4+H2O

NaNO2+NH4Cl→NH4NO2+NaCl
Na+O2=Na2O2
NiS+O2=NiO+SO2
NiO+C=Ni+CO

NH3+Na=NaNH2+H2
N2O→2N2+O2 

N2O3=NO+NO2
N2O3+H2O=HNO2
NO2→N2O4+Q

N2O4+H2O=HNO2+HNO3
NO+[O]=NO2
Na2SO4+C=Na2S+CO2
Na2S+CaCO3=Na2CO3+CaS

NaOH+SiO2=Na2SiO3+H2O

Na2SiO3+HCl=H2SiO3+NaCl

Na2CO3+CaCO3+SiO2=Na2O(CaO(SiO2+CO (shisha)

Na2SO4+C+SiO=Na2SiO3+CO2+SO2
Na+H2=NaH

Na2O2+H2O=NaOH+H2O2
Na2O2+H2O=NaOH+O2
Na2O2+CO2=Na2CO3+O2
Na2CO3+C=2Na+3CO

Na+Cl2=NaCl

Na+S=Na2S

Na+H2=NaH

NaOH+Cl2=NaCl+NaClO+H2O   (sovuqda)

NaOH+Cl2=NaCl+NaClO3+H2O   (700C gacha qizdirilganda)

Na2CO3+Ca(HCO3)2=CaCO3+NaHCO3
Na2Al2S2O8 ( n H2O + CaSO4→ CaAl2S2O8 ( n H2O + Na2SO4
NaCrO2+Br2+NaOH=Na2CrO4+NaBr+H2O

Na2Cr2O7+ NaOH= Na2CrO4+ H2O

Na2CrO4+H2SO4=Na2SO4+Na2Cr2O7+H2O

Na[Ag(CN2)]+NaOH=NaNO3+Ag2O+H2O

Na[Au(CN)2]+Zn= Na2[Zn(CN)4]+Au

PbO2+HCl = PbCl2+Cl2+H2O

PbS+O3=PbSO4+O2
Pb(OH)2+O3=PbO2+H2O+O2
Pb(NO3)2=PbO+NO2+O2
P+HNO3+H2O=H3PO4+NO

Pb+HNO3=Pb(NO3)2+NO2+H2O

Pt+HNO3+HCl=PtCl4+NO+H2O

PH3+HCl=PH4Cl

P+S=P2S3
P+Cl2=PCl3  yoki  PCl5
P+Ca=Ca3P2
P2O3+H2O=H3PO3
P2O5+H2O=HPO3
P+ FeO= Fe+P2O5
P2O5+CaO=Ca3(PO4)2(CaO

Sb2O3+HCl=SbCl3+H2O

Sb2O3+NaOH = NaSbO2+H2O

Sb(OH)2Cl=SbOCl+H2O

S+NaOH=Na2S +Na2SO3+ H2O

S+ Na2SO3=Na2S2O3
Sb+ Cl2=SbCl3
S+Cl2= SCl2
S+F2=SF6
SO2+H2=S+H2O 500o

SO2+C=S+CO 800o

SO2+H2O+NO2=H2SO4+NO

S+HNO3=H2SO4+NO

SiO2+Mg=MgO+Si

SiO2+C=CO+Si

Si+F2=SiF4
Si+N2=Si3N4
Si+Mg=Mg2Si

Si+O2=SiO2
Si+Cl2=SiCl4
Si+NaOH+H2O=Na2SiO3+H2
SiO2+C=SiC+CO

SiO2+NaOH=Na2SiO3+H2O

SiO2+K2CO3=K2SiO3+CO2
Si+FeO=SiO2+ Fe

SiO2+MnO=MnSiO3
SiO2+MgO= MgSiO3
SiO2+FeO=FeSiO3
SiO2+C=CO+Si

TiO2+Cl2+C= TiCl4+CO

TiCl4+Mg= Ti+MgCl2
TiCl4+Na= Ti+NaCl

Ti+H2O=TiO2+H2 (6000 - 8000 C)

Ti+HCl= TiCl3+H2
Ti+H2SO4= TiSO4+SO2+H2O

Ti+H2SO4=H2+ TiSO4
Ti+HNO3+HF=H2[TiF6]+NO+H2O

XeO3+NaOH+O3=Na4XeO6+Xe+O2
XeF6+H2O=XeOF4+HF

XeF6+H2O=XeO2F2+HF

XeF6+H2O=XeO3+HF

XeF4+H2O=Xe+O2+HF

XeF4+H2O=Xe+H2XeO4+HF

4XeF6+18H2O=Xe+3H4XeO6+24HF

ZnO+C=Zn+CO

Zn+NaOH=Na2ZnO2+H2
ZnO+C=Zn+CO
Zn+KOH+H2O=K2[Zn(OH)4]+H2
Zn(OH)2+NaOH=Na2ZnO2 +H2O

Zn+H2O= Zn(OH)2+H2
Zn+NaOH=Na2ZnO2+H2
Zn(OH)2+NH3=[Zn(NH3)6](OH)2
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